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PAPER-II

LINGUISTICS
Match the wods i sin their authors in List-I |4+ The recursive PS-rule was introduced in :
and ch P memect answer from the code given (A) The As;_)ects oiraiel
(B) Syntactic Structures
(C) The GB theory
Lae-] List-IT (D) The lexicalist approach
A sthadyayt (1} B.F.Skinner -
[ 5. Inthesentence “Dogs are lovable” both Dogs
Language () Noam Chomsky and are have the ¢-features 3% person, plura!.
Syntactic Structures (iii) Panini Choose the correct option
(B Verbal Behaviowr  (iv) Bloomfield {A) The ¢-features on Dogs are uninterpreiz= »
: (B) The ¢-features on are are interpretable
Code:

@ (b) (0 (@
(A) (v) @ @) @
(B) @) (v) i@ @
©) @ O @) (i)
D) @) v 0 G

Which one is ungrammarical ?

1v3as

(A) My fmend Gita bought a silk saree and T bought
100.

(B)

5 In e sentence ' The teacher met the class under a
w2 the phrase under a tree is :
A1 Anintemal argument of the verb

e indirect object of the verb

) Izzcomplement of the verb

(D) Anadumct
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(C) The ¢-features on both Degs and are =
interpretable
(D) The ¢-features on Dogs are interpretable

Match the items in List-T with those in List-IT and chows
the correct ansser given in code given below :

List-I List-H
(a) Sound changes {1)  Phonological chaeg
that take place |
in specific phonetic
ENVIronIments
(b) Sounde (1) Conditioned soed
hat affeci i change
Gy Tt SOt
¢) IseGenmanic () Metathesis
sound shift
(d) Reoderingof (1v) Grimm’sLa
segments in a word
Code:

(@) (b) () (d)
(A) @ @ ) (i)
B © @ @) [
©) @ @) (i) &)
O) ) @O

(%)




CMB-33157

Words of different languages that have come froma|10. Match the items in List-] with these = Lis-IT and

cammon source and show systematic phonological
carrespondences and semantic similarities are called :

(B) Cognates
(D) Loan words

{A) Synonyms
{C) Coinages

Match the items in List-I with those in List-I[ and
choose the correct answer from the code given
below ;

List-I List-11
&) Changemwhicha (i) Phonological shift
sound influences the
preceding segment
(o) Gmmm'sLaw (i) Regressive
assimilation
4 chenege whic (i)  Amelioration
- - S TN RS WL T

Code:

() (Do 48
AL D @ ) ) f
B an M (@v) ()

(C) (v) @) G O
D) O @ W @)

A supraregional language adopted for communication

among speakers of different languages. 11

(A) Linklanguage

(B) Pidgin

(C) Koine

(D) None ofthe above

L ey

choose the correct answer from tae cegs given
below
List-1 List-IT
(a) The word film (i) Total assimilation
pronounced with

avowel mserted
between the final
consonants

(b) Latin Septum (1)
became setfe in
Ttalian

(c) Meatwhich (i) Pejoration

Epenthesis

originally meant
‘food’ came to
mean ‘food of flesh’
(d) The wordspinster (iv) Narrowing
which meant ‘one

who Spins’ came to

Code:

(&) (b} () &
A O @ o) W
B) @ O ) w
(©) (v} @) @ @
O) @ O G @)

Which one of the following is not a defining feature of
South Asian linguistic area ?

{A) Conjunctive participle
(B) Complex predicates
(C) SOV asthe unmarked word order

(D) The use of auxiliary verb *have’
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*atch the items in List-I with those given in List-II
and choose the correct answer from the code given

below
List-I List-II

{(a) Germanic consonant (i) Hugo Schuchardt
shuft

(b) Linguistic Area (i) Karl Verner

(c} Exceptionsto (i) Jakob Grimm
(rimm’s law

(d) Wave theory (1v) Emeneau

Code:
(e (oo ()

A) @ @ v W

B @ @) ) W

(C) @i (v) () (0

(D) ) () (H) v

The symbol [ k | in IPA representation stands for ;

(A4) Voiceless Velar Stop

(B) Voictless Velar Fricative
(C) Voiced VelarFricative
Voiced Velar Stop

6.

"

The production of [d] in “bad day’ isa case of :
{A) Progressive Articuiation

(B) Double Articulation

(C) Regressive Articulation

(D) None

The vowel in "heat’ is represented in [PA by :
(A) [e]

B) {]

(©) [

(D) [a]

oo maeo- grOUp of sounds ave Dravidian Joans o -
Arvan languages.

{A) Semivowels

(B) Rewollex

(C) Velars

(D) Affricates

The process involved InchanSaeiewons Sa——



D

The hierarchical structure of language can be
represented as :

(A} Syntax>Morphology > Phonotogy > Phonetics
(B) Phonetics > Morphology > Phonology > Syntax
(C) Morphology > Phonology > Phonetics > Syntax
(D) Syntax > Phonology > Morphology > Phonetics

In a language the voiceless consonants become

voicsed in intervocalic position. This process is said

- -
-

J

T e

Erve=rd pemay? 8z LT

T Mue
(D) Deaf

Psycholinguistic research had shown that leaming of
second language is not the same as learning of the
first language :

(A) True

(B) False

(C) Absolutely False

(D) None
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27.

The term used to reier el iy e o & 0iven
speaker is known as :

(A) Glossary

(B) Thesaurus

(CYy Vocabulary

(D) Dictionary

L}

Which among the following is NOT & bereses
applied inguistics 7

(A) Lexicography

(B) Stylistics

(C) Syntax

(D) Translation studies

Formative Assessment tests are given

(A) Atthe beginning of academic year

(B) Atthe end of the academic year

(C) Inthe middie of the academic year

(D) From time 1o time during the academic year

Assertion (I): Animal communication s context-bound.
Assertion (I1): Human language can be context - free,
Wisch of the following is correct ?

A ) s sl and {11 15 True

= S Taica
| SR ral e

T

b

Mesde gl -

E ERRS LR ey sl h

T L

List-I

List-11

(a) Skinner,B.F. (1} A course inmodem
linguistics

{b) Austin,J.L. (W) Verbal behavior

(c) Katz, J.J. (i) Semantic theory

(d) Hockett, C.F. (iv) How to do things with
words

Code:

(@) (b) {¢) (d)
(A) O @ () @)
(B) () @) () @
(€ @ (@ O @)
O) @ @) O (@)
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and sentences from other language, then itis called :
(A) Code-mixing

(B) Code-switching

(C) Diglossia

(D) Creole

Assertion (I): The organization of human and animal

(8]
|O%]

brain is the same.
Assertion (IT): The human brain has an innate capagity
for learning language creatively.
Which ofthe following is correct ?
(A) (D)is false and (1) is true "
B) (Distrueand (1D is false
(C) Both(I)and (11) are true
(D) Both (1) and (11) are false

34 Assertion (I): The abstract system of alanguage i5
called Langue.

Assertion (ID: The actual use of language is called

Parole.
Whic Tr 15 COITE
=ine grd (11 05 22
B < e md (= Sl
= R i) ==k (e S
D B Py
23 Taewword unfriendliness has: A0,

(A) Four Morphemes
(B) Two Morphemes
(C) One Morpheme

(D) Three Morphemes
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If one uses a language and mixes words, phrases |36,

37.

Which ofthe following does notcarry a negative prefix ?
(A) Incapable

(B) Unable

(C) Enable

(D) Impossible

Portmanteau iiorphs are foundin:
(A) Agglutinative languages

(B) Tsolated languages

(C) Analytic languages

(D) Fusional languages

The alternations of ‘I’ and ‘me’ is acase of .
(A) Redundancy

(B) Suppletion

(C) Phonological alternations

(D) Metathesis

Assertion (I): Cranberry morphs alsn knows S
Unigue mommpis.

Assertion {Il): Crenbsmym rphs coour oRiy =

3 Cmer Ti=ooees

) Ov(Bisos==X

O (T s=d () oot =¢ oot oos=vd
Svarbhaktizsiers o

(A Meiashess

(B) Assimilanon
(C) Dissimnilagon
(D) Epenthesis




41.

44,

Identify the ambiguity in the following phrase : The
abnormal Psychology Professor :

(A) Noambiguh
(B) Lesxical ambiguity
(C) Syntactic ambiguity

(D) None

Part-whole relationship exemplified o3 *=
haard- computer’ is referred to as :

= . e
- LT T

Statemesd s ey huchand i< tall

Statemeni ®: She s unrmmmied

Identify ibesclsmnasbin hetween ned 8

[A) &coniradscesl
(B) ecseish
(C) & presepposs:

(D) Nomeofthess epplv

Metonymy and Metaphor are examples of :

(A) Formulaic language
(B) Figurative language
(C) Speechacis

Dt Sense and refatnons

Ay Bamsen
(B} Co-reference
(C) Rererence

(D) Sense
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Chgscxi imdspendont ligeral (inherent) meaning of a

1~

46.

49.

Assertion (1) : Pidgin languages 222 simoe e link
languages.

Assertion (I) : When pidgin becomes & mother
tongue of a speech Commus o 1t is
called a Creole.

Which of the following 1s correct 7

(A) (Dis false and (1) is true

(B) (1) istrue and (II) is false

(C) Both (I) and (II) are true

(D) Both (1) and (II) are false

Register refersto
'A) Varieties of a language according to use

B) Varieties of a language according to user

]

i Colloguial form of language

1y mainly responsible for use of variationist

al
gusssetive ) methodalogy insociolinguisties is

j = e —.

= . —

. —— ——
e ——— . a—— =

- ——— - - —

What linguistic criterion is Lsed w0 diferanizic
between language and a dialect
{A) Dialect Continuum

(B) Mutual Intelligibility

(C) Convergence

(D) Diglossia

Identify the odd item from the following :
(A) Idiolect

(B) Regional dialect

(C) Socialdialect

(D) Cognate
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